Monday, September 23, 2024 A

EE 481/581 Microwave Engineering
Quiz #3 (Fall 2024)

Name KEY A

Instructions: Closed book & notes. Place answers in indicated spaces and show all work for credit.

A lossless transmission line (200 Q, 2 x 10% m/s) of length 92 cm has a measured input reflection
coefficient of 0.66£106° at 2.5 GHz. Calculate the wavelength. Then, using a Smith chart, find the
input admittance & impedance, load reflection coefficient, load impedance, standing wave ratio (SWR),

return loss (RL), and maximum & minimum impedances along the transmission line. Show and clearly
label all work on the Smith chart (this will be graded).
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wavelength=A =8 cm

Yin=_2.65—-j5.9mS Zin=__62+j142 Q

load refl. coeff. = 0.662106° Zr= 62+j7142 Q) SWR= 4.9

RL=_3.6dB max. impedance = 980 QQ min. impedance = 42 Q
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Monday, September 23, 2024 C

EE 481/581 Microwave Engineering
Quiz #3 (Fall 2024)

Name KEY B

Instructions: Closed book & notes. Place answers in indicated spaces and show all work for credit.

A lossless transmission line (200 Q, 2.4 x 108 m/s) of length 92 cm has a measured input reflection
coefficient of 0.76.£-126° at 2 GHz. Calculate the wavelength. Then, using a Smith chart, find the
input admittance & impedance, load reflection coefficient, load impedance, standing wave ratio (SWR),

return loss (RL), and maximum & minimum impedances along the transmission line. Show and clearly
label all work on the Smith chart (this will be graded).
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